Ubungen : Vermischte Aufgaben zu Potenzen

1. Vereinfache und berechne: Teil 1

a)0,2° = b)3,1%= ) 2°.3°=  d)43.4%=
e)22-32.4%= f) 52.57= g) 2,52-2,57 =
h)3*-(-1)° - 2° = i) (2%)?=

2. Vereinfache und berechne: Teil 2

44 1,2’
a) == b) o= €)6':6” =
d 3* 2.~ 45 _
) 5= e)0,1°:0,1° =
f 3.103 = 5 _2_ 3.93_
) 33:10%= 8 ] = h) 14 : 7%=

3. Vereinfache

a)a-a’= b)a*-a’-a’= c) a®™-a®m.a"= d) > -x*-x 2 x*=
e) a’-b’= f) a®-b*-c’= g) a®-b-b>a=

2
h) == i)x* X = i) (ab)’: b’ =



"H\f/

Ubungen : Vermischte Aufgaben zu Potenzen — Lésung
1. Vereinfache und berechne: Teil 1

N,

a) 0,2° = 0,008 b)3,1°=29,791 c¢) 2°-3°=6>=216 d)4*-4*=4°=1024

e)22-32.42= 242=576 f) 52-5°=5%=1 g) 2,52-2,5°=25"=—==0,4

h)3%.(-1)° - 2® =(-6)°=-216 i) (2%)*= 2®=256

2. Vereinfache und berechne: Teil 2

4
a)j—2=44_ = 16 b) 1,277%=1,2°=1,728 ¢)6':6° =6" 5=6-1=%
32 3 2 ~ 1 1
d) —2=(j =1,52=2,25 e)0,1°:0,1° =0,17° = = =
2”2 0° 0,001

—

=4

f) 33:10%= (0,3)® =0,027 g) Sy syt ot
’ ’ 10) (10 5 25 1
(10} 100 4

h)14°:7°=2°=38

3. Vereinfache
a)a-a’=a’ b)a*a’-atza ¢ ama™am=a""d) - x-x - x'=x=1

e) a’-b*=(ab)> f) a®>-b’>-c*=(abc)® g) a’-b-b* a=a’b’=(ab)?

h X = (ﬁj )2 =x? = L i) (ab)?: b? —(“b”j = o’

y x?



